2012-2013 6TH GRADE CONTEST SOLUTIONS

Answers

26.

There was sunny weather on 12 of 30 days last
month; then on 18 days the weather was not
sunny. Since 18 + 30 = 0.6, that’s 60%.

A) 36% B) 40% C) 60% D) 64%

27.

Since $24 + $0.80 = 30 and $24 + $1.20 = 20, I
bought 50 magnets for $48. Thus, the average
cost per magnet was $48 + 50 = $0.96.

A) $0.92 B) $0.96 C) $1.00 D) $1.04

28.

The average of 1.75 and 7.25 is equidistant from
them. The average is (1.75 +7.25) + 2 = 4.5.

A) 275 B)325 () 375 D)45
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26.
C

27.

28.

29.

23 X 34 X 45 X 67 X 910 - 23 X 34 X 210 X (27 X 37))( 320 - 23+10+7 X 34+7+20_

A) 215 X 321 B) 220 X 331 ~C) 215 X 340 D) 2105 X 3280

29.

30.

The ratio of red cars to black cars is 8:5 = 24:15; the ratio of black cars to
white cars is 3:4 = 15:20. The minimum number of carsis 24 +15+20 = 59.

A) 20 B) 59 C) 74 D) 91

30.

31.

The sum is 25 + 26 + ... + 30 = 165. Since 165 + 10 = 16.5, the middle
numbers are 16 and 17. Thesumis 12+ 13+ ...+16+17+.. .+20+21.

A) 17 B) 18 Q) 21 D) 26

31.

32.

A radius of a circle with area 367t cm? is 6 cm. The width of the rectan-
gle is 6 cm. A diameter of the circle is 12 cm, so the length of the rec-
tangle is 24 cm. The perimeter of the rectangle is 2 x (6 +24) = 60 cm.

A) 60 cm B) 90 cm C) 144 cm D) 172 cm

32.

33.

For every 3 numbers left, one multiple of 4 was removed. Since 2345+
3 =781 R2, 781 multiples of 4 were removed. Since there is a remainder
of 2, the last number in the list was 4x 781 +2 = 3126.

A) 3126 B) 3127 C) 3129 D) 3130

33.

Each day I loaded 90 boxes instead of 120, I was
30 boxes short. If I were on schedule, I would
need to load 720 boxes the last 6 days. | had to
load 480 extra boxes. Since 480 + 30 =16, 1 had
16 + 6 =22 days to finish this temporary job.

A)10 B)16 22 D)2

35.

Working backwards, 1 counted 2/3 the number
of leaves on each previous day. So on Sunday,
I counted (2/3)° x 2430 = 320 leaves.

A) 160 B) 240

C) 280 D) 320

The end of the contest E_'] 6

Visit our Web site at http://www.mathleague.com
Steven R. Conrad, Daniel Flegler, and Adam Raichel, contest authors
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Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answer Column to
the right of each question).
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Information & Solutions
Tuesday, February 19 or 26, 2013

Contest Information

Scores Please remember that this is a contest, and not a test—there is no
“passing” or “failing” score. Few students score as high as 28 points
(80% correct); students with half that, 14 points, deserve commendation!

Answers and Rating Scales Turn to page 149 for the letter answers
to each question and the rating scale for this contest.

Copyright © 2013 by Mathematics Leagues Inc.
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